

NAME: ATUME MIMIDOO VICTORIA
MATRIC NO: 191MHS01/107
DEPARTMENT: MEDICINE AND SURGERY
COLLEGE: MEDICINE AND HEALTH SCIENCES
COURSE: MAT 104.

ASSIGNMENT.

1. $\int \sin^6 x dx$

Solution

$$\int \sin^6 x dx = \int \sin^4 x \cdot \sin^2 x$$

$$\sin^2 x = \frac{1 - \cos 2x}{2}$$

$$\sin^4 x = \left[\frac{1 - \cos 2x}{2} \right]^2$$

$$\sin^4 x = \frac{1}{4} \left[(1 - \cos 2x)^2 \right]$$

$$\sin^4 x = \frac{1}{4} \left[1 - 2\cos 2x + \frac{1 + \cos 4x}{2} \right]$$

$$\int \sin^6 x dx = \frac{1}{4} \int \left[\frac{1 - 2\cos 2x + 1 + \cos 4x}{2} \right] \cdot \left[\frac{1 - \cos 2x}{2} \right] dx$$

$$\int \sin^6 x dx = \frac{1}{8} \int (1 - 2\cos 2x + \frac{1 + \cos 4x}{2}) (1 - \cos 2x) dx$$

$$\int \sin^6 x dx = \frac{1}{16} \int (2 - 4\cos 2x + 1 + \cos 4x) (1 - \cos 2x) dx$$

$$\int \sin^6 x dx = \frac{1}{16} \int (3 - 4\cos 2x + \cos 4x) (1 - \cos 2x) dx$$

$$\int \sin^6 x dx = \frac{1}{16} \int (3 - 4\cos 2x + \cos 4x - 3\cos 2x + 4\cos^2 2x - \cos 4x \cos 2x) dx$$

$$\int \sin^6 x dx = \frac{1}{16} \int (3 - 4\cos 2x + \cos 4x - 3\cos 2x + 2 \times 2\cos^2 2x - \cos 4x \cos 2x) dx$$

$$\cos^2 2x = \frac{1 + \cos 4x}{2}$$

$$\cos^4 x \cos 2x = \frac{1}{2} (\cos(4x+2x) + \cos(4x-2x))$$

$$\cos^4 x \cos 2x = \frac{1}{2} (\cos 6x + \cos 2x)$$

$$\int \sin^6 x dx = \frac{1}{16} \int \left[3 - 7\cos 2x + \cos^4 x + 2 \times 2 \left(\frac{1 + \cos^4 x}{2} \right) - \frac{1}{2} (\cos 6x + \cos 2x) \right] dx$$

$$\int \sin^6 x dx = \frac{1}{16} \int \left[3 - 7\cos 2x + \cos^4 x + 2 + 2\cos^4 x - \frac{1}{2} (\cos 6x + \cos 2x) \right] dx$$

$$\int \sin^6 x dx = \frac{1}{32} \int (6 - 14\cos 2x + 2\cos^4 x + 4 + 4\cos^4 x - \cos 6x + \cos 2x) dx$$

$$\int \sin^6 x dx = \frac{1}{32} \int (10 - 15\cos 2x + 6\cos^4 x - \cos 6x) dx$$

$$\int \sin^6 x dx = \frac{1}{32} \left[10x - \frac{15\sin 2x}{2} + \frac{6\sin^5 x}{5} - \frac{\sin 6x}{6} \right] + C$$

where C is the constant of integration.

2 $\int \cos^4 x \sin^3 x dx$

Solution

Since let $u = \cos x$ $\frac{du}{dx} = -\sin x$ $dx = \frac{-du}{\sin x}$

the values of substituting u and dx into $\int \cos^4 x \sin^3 x dx$;

$$\int \cos^4 x \sin^3 x dx = \int u^4 \cdot \sin^2 x \cdot \sin x \cdot \frac{-du}{\sin x}$$

$$\int \cos^4 x \sin^3 x dx = -\int u^4 \sin^2 x du$$

$$\sin^2 x = 1 - \cos^2 x$$

$$\int \cos^4 x \sin^3 x dx = -\int u^4 (1 - \cos^2 x) du$$

$$\int \cos^4 x \sin^3 x dx = -\int u^4 (1 - u^2) du$$

$$\int \cos^4 x \sin^3 x dx = \int (u^6 - u^4) du$$

$$\int \cos^4 \sin^3 x \, dx = \frac{u^7}{7} - \frac{u^5}{5} + C$$

$$\int \cos^4 \sin^3 x \, dx = \frac{\cos^7 x}{7} - \frac{\cos^5 x}{5} + C \quad \text{where } C \text{ is the constant of integration.}$$

3 $\int \cos x \sin^3 x \, dx$

Solution

$$\text{Let } u = \cos x \quad \frac{du}{dx} = -\sin x \quad dx = \frac{-du}{\sin x}$$

$$\int \cos x \sin^3 x \, dx = \int u \cdot \sin^2 x \cdot \sin x \cdot \frac{-du}{\sin x}$$

$$\int \cos x \sin^3 x \, dx = -\int u \cdot \sin^2 x \, du$$
$$\sin^2 x = 1 - \cos^2 x$$

$$\int \cos x \sin^3 x \, dx = -\int u(1 - \cos^2 x) \, du$$

$$\int \cos x \sin^3 x \, dx = -\int u(1 - u^2) \, du$$

$$\int \cos x \sin^3 x \, dx = \int (u^3 - u) \, du$$

$$\int \cos x \sin^3 x \, dx = \left[\frac{u^4}{4} - \frac{u^2}{2} \right] + C$$

$$\int \cos x \sin^3 x \, dx = \frac{\cos^4 x}{4} - \frac{\cos^2 x}{2} + C \quad \text{where } C \text{ is the constant of integration.}$$